= Import["d:\\Schaltungen\\Absorptionslinie Carla\\Carla6.jpg"]

importiere
a=1/2600; f0 = 5x"3; Tau = 9.001; Rg = 300; Cc

L1=1/ ((2%Pixf0)~2=xCc);
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2 | Gauss_Paket Diff.nb

- ue[t_] :=1/45% (2/Pi/a”2)~(1/4) »EXp[- (t-Tau)"2/a"2] »Cos[2+Pi*f0* (t-Tau)]

Plot[ue[t], {t, 9, 10/ fO}, AxesOrigin -» {0, 0}, GridLines -» Automatic,

GridLinesStyle - Directive [Orange, Dashed], PlotLabel » " ", AxeslLabel -» {}, PlotStyle » {Thin, Blue}, PlotRange - Full]
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ner= U2U@Betrag = 20 x Log[10, Abs[ (1 - (2*Pi*f)"2xL1%xCc) / (1 - (2*Pi*xf)"2%xL1*Cc+Ix2xPixfxCcxRg)1];
LogLinearPlot [U2U@Betrag, {f, 1x"3, 4 » f0}, AxesOrigin -» {1%"3, @}, GridLines -» Automatic, GridLinesStyle -» Directive[Orange, Dashed],

PlotLabel » " ", AxeslLabel -» {}, PlotStyle » {Thin, Blue}, PlotRange - Full]
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nigr= erg = NDSolve[{uc'[t] ==1/Ccxic[t], ic'[t] ==1/L1l* (ue[t] -uc[t] -Rg*ic[t]), uc[O@] ==0@, ic[O@] =@}, {ic[t], uc[t]}, {t, @, ©.003}]

Domain: {{0., 0.003}}
Output: scalar

%_ Domain: {{0., 0.003}} ] [t] }}

[t], uc[t] » Inter‘polatingFunction[ 5 |
utput: scalar

out[s]= Hic (t] - Inter‘polatingFunction[
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no}= Plot[ue[t] - Rg * Evaluate[ic[t] /. erg], {t, 0, ©.003}, AxesOrigin » {0, @}, GridLines - Automatic,

GridLinesStyle - Directive [Orange, Dashed], PlotLabel » " ", AxeslLabel -» {}, PlotStyle » {Thin, Blue}, PlotRange - Full]
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